
n]vf k/LIf0f gePsf] -?=nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                 3,726,011.88 
!=! r'Qmf k"FhL                  343,666.79 
!=@ hu]8f tyf sf]if                  167,346.68 
!=# hLjg aLdf sf]if                3,212,635.58 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L                     2,362.83 
@= pkof]u -@=! b]lv @=%_                 3,726,011.88 
@=! l:y/ ;DklQ -v'b_                   25,674.86 
@=@ lb3{sflng nufgL tyf shf{              2,419,007.50 
@=# v'b rfn' ;DklQ -# – $_                 1,281,329.52 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{                            -   
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg                            -   
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                 1,510,357.14 
#=! gub tyf a}+s df}Hbft                  30,344.78 
#=@ cNksflng nufgL tyf shf{              1,188,508.08 
#=# cGo ;DklQ                 291,504.28 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                   229,027.62 
$=! rfn' bfloTj                 124,818.78 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                   30,296.59 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                   30,152.71 
$=$ cGo Aoj:yf                  43,759.54 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                    17,825.88 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                    3,978.99 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]                            -   
!=# nufgL shf{ tyf cGoaf6 cfo                   10,412.97 
!=$ Aoj:yf lkmtf{                    3,428.69 
!=% cGo cfDbfgL                          5.23 
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                      5,106.59 
 @=!  Aoj:yfkg vr{                     1,929.21 
 @=@  z]o/ ;DalGw vr{                         4.70 
 @=#  cGo vr{                        45.70 
 @=$  gf]S;fgLsf] nflu Aoj:yf                    1,028.44 
 @=%  sd{rf/L cfjf; Aoj:Yff                        44.37 
 @=^  sd{rf/L af]g; Aoj:Yff                     1,354.26 
 @=&  cfos/                       699.91 
 @=*  hLjg aLdf sf]ifdf ;f/]sf]                            -   

 v'b gfkmf÷gf]S;fg -! – @=_                     12,719.29 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                   464,346.23 
 !=!  aLdfz'Ns -v'b_                  318,764.66 
 !=@  k'gaL{df sldzg cfo                       546.12 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                   61,406.38 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                   13,580.24 
 !=%  cGo k|ToIf cfo                     1,669.12 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                   31,989.86 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                   36,389.85 
 @  Aoo -@=! – @=!) ;Dd_                   231,600.41 
 @=!  bfjL e'QmfgL -v'b_                 107,525.03 
 @=@  clestf{ sldzg                    35,383.66 
 @=#  :jf:Yo kl/If0f z'Ns                      242.08 
 @=$  k'gaL{df sldzg vr{                            -   
 @=%  ;]jf z'Ns -v'b_                     3,192.23 
@=^ cGo k|ToIf vr{                         11.81 
@=& Aoj:yfkg vr{                  18,185.08 
@=* cfos/                     6,618.21 
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                  30,144.44 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                   30,297.87 
# art -!_ - -@_                   232,745.82 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                 238,058.99 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                    3,198.49 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                     280,391 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                  8,047,358 
#= 3f]lift d'gfkmf -af]g;_ sf] b/
$= cGtl/d d'gfkmf -af]g;_ sf] b/
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                     124,869 
^= s'n bfjL e'QmfgL ;+Vofdf                      38,808 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                       30,701 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                         2,221 

hLjg aLdf Aoj;fo ug]{ ;a} aLdsx?sf] 

cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo

gf]6 M/fli6«o aLdf ;+:yfgsf] cGo lzif{sdf /x]sf] ljj/0f k|fKt gePsf] .



n]vf k/LIf0f gePsf] -?=nfvdf_

 klxnf] q}dfl;s 
! >f]t -!=! b]lv !=$ ;Dd_                   309,679.88 
!=! r'Qmf k"FhL                    1,810.20 
!=@ hu]8f tyf sf]if                     2,961.21 
!=# hLjg aLdf sf]if                304,908.47 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                   309,679.88 
@=! l:y/ ;DklQ -v'b_                       685.53 
@=@ lb3{sflng nufgL tyf shf{                   99,112.70 
@=# v'b rfn' ;DklQ -# – $_                   209,881.65 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                   244,292.26 
#=! gub tyf a}+s df}Hbft                     2,286.71 
#=@ cNksflng nufgL tyf shf{                 191,422.55 
#=# cGo ;DklQ                  50,583.00 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     34,410.61 
$=! rfn' bfloTj                   32,618.80 
$=@ c;dfKt hf]lvd jfkt Aoj:yf
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                     1,791.81 
$=$ cGo Aoj:yf                            -   

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                        188.39 
!=! cfo Aoo lx;fjaf6 ;f/]sf] 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       188.39 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                          85.66 
 @=!  Aoj:yfkg vr{                        78.10 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                          7.56 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         102.73 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                     50,003.17 
 !=!  aLdfz'Ns -v'b_                   42,117.45 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                     5,662.14 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                       262.52 
 !=%  cGo k|ToIf cfo                        78.03 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                     1,791.82 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                         91.21 
 @  Aoo -@=! – @=!) ;Dd_                     10,533.91 
 @=!  bfjL e'QmfgL -v'b_                     6,831.27 
 @=@  clestf{ sldzg                       773.97 
 @=#  :jf:Yo kl/If0f z'Ns                        12.80 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       421.17 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                      702.88 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                     1,791.82 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf
# art -!_ - -@_                     39,469.26 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                   39,469.26 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_
#= 3f]lift d'gfkmf -af]g;_ sf] b/
$= cGtl/d d'gfkmf -af]g;_ sf] b/
%= s'n bfjL e'QmfgL /sd -?=xhf/df_
^= s'n bfjL e'QmfgL ;+Vofdf
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

gf]6 M cGo ljj/0f k|fKt gePsf] .

1= /fli^o aLdf ;+:yfg 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_

 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                 404,585.40 
!=! r'Qmf k"FhL                   30,826.27 
!=@ hu]8f tyf sf]if                   14,334.78 
!=# hLjg aLdf sf]if                 359,424.35 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                 404,585.40 
@=! l:y/ ;DklQ -v'b_                     6,521.89 
@=@ lb3{sflng nufgL tyf shf{                  331,228.09 
@=# v'b rfn' ;DklQ -# – $_                     66,835.42 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    95,648.37 
#=! gub tyf a}+s df}Hbft                    1,885.00 
#=@ cNksflng nufgL tyf shf{                   65,168.17 
#=# cGo ;DklQ                  28,595.20 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                    28,812.95 
$=! rfn' bfloTj                     3,556.72 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                     3,637.88 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                   4,453.84 
$=$ cGo Aoj:yf                   17,164.51 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                      1,599.00 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                       613.43 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                      985.57 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         415.29 
 @=!  Aoj:yfkg vr{                       220.27 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf                        (65.55)
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                       131.30 
 @=&  cfos/                       129.27 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                       1,183.71 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                    45,493.78 
 !=!  aLdfz'Ns -v'b_                  28,032.94 
 !=@  k'gaL{df sldzg cfo                        137.36 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                    6,988.09 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                     1,206.03 
 !=%  cGo k|ToIf cfo                       199.26 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                    4,382.75 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                    4,547.35 
 @  Aoo -@=! – @=!) ;Dd_                     22,672.10 
 @=!  bfjL e'QmfgL -v'b_                    8,469.35 
 @=@  clestf{ sldzg                    2,980.49 
 @=#  :jf:Yo kl/If0f z'Ns                        22.28 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       280.33 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                     1,982.39 
@=* cfos/                      845.54 
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                   4,453.84 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     3,637.88 
# art -!_ - -@_                     22,821.68 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                      28,425 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn ;Ddsf]_                     882,726 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 63 - 85
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 63 - 85
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                        8,675 
^= s'n bfjL e'QmfgL ;+Vofdf                         5,138 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                         3,873 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

2= g]zgn nfO{km O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                1,045,927.98 
!=! r'Qmf k"FhL                   54,961.61 
!=@ hu]8f tyf sf]if                  42,752.74 
!=# hLjg aLdf sf]if                 948,213.63 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                1,045,927.98 
@=! l:y/ ;DklQ -v'b_                      3,113.65 
@=@ lb3{sflng nufgL tyf shf{                  620,237.61 
@=# v'b rfn' ;DklQ -# – $_                   422,576.72 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                  460,798.45 
#=! gub tyf a}+s df}Hbft                    4,808.77 
#=@ cNksflng nufgL tyf shf{                 374,343.20 
#=# cGo ;DklQ                  81,646.48 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     38,221.73 
$=! rfn' bfloTj                   16,790.06 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                     2,179.13 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                   14,320.58 
$=$ cGo Aoj:yf                     4,931.96 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                       3,129.35 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                         35.63 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                    2,099.23 
!=$ Aoj:yf lkmtf{                      994.49 
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         839.32 
 @=!  Aoj:yfkg vr{                       201.79 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                       292.73 
 @=&  cfos/                      344.80 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                      2,290.03 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                    131,239.68 
 !=!  aLdfz'Ns -v'b_                   89,251.53 
 !=@  k'gaL{df sldzg cfo                       114.11 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                   16,857.63 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                   5,244.54 
 !=%  cGo k|ToIf cfo                       927.03 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                    16,161.41 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                     2,683.43 
 @  Aoo -@=! – @=!) ;Dd_                     70,429.11 
 @=!  bfjL e'QmfgL -v'b_                  38,760.44 
 @=@  clestf{ sldzg                     9,686.21 
 @=#  :jf:Yo kl/If0f z'Ns                         33.69 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       891.97 
@=^ cGo k|ToIf vr{                          7.72 
@=& Aoj:yfkg vr{                    1,816.08 
@=* cfos/                     2,733.29 
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                   14,320.58 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     2,179.13 
# art -!_ - -@_                    60,810.57 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                      60,774.94 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                             35.62 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                  89,994.49 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn ;Ddsf]_                    1,319,702 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 62-82
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 62-82
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                    36,919.61 
^= s'n bfjL e'QmfgL ;+Vofdf                      14,489 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                   14,320.58 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

g]kfn nfOkm OG:of]/]G; s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                   735,597.39 
!=! r'Qmf k"FhL                  20,100.00 
!=@ hu]8f tyf sf]if                     5,762.62 
!=# hLjg aLdf sf]if                 707,371.94 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L                     2,362.83 
@= pkof]u -@=! b]lv @=%_                   735,597.39 
@=! l:y/ ;DklQ -v'b_                    2,543.96 
@=@ lb3{sflng nufgL tyf shf{                  657,122.28 
@=# v'b rfn' ;DklQ -# – $_                     75,931.15 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    120,710.63 
#=! gub tyf a}+s df}Hbft                     6,416.50 
#=@ cNksflng nufgL tyf shf{                  64,534.44 
#=# cGo ;DklQ                  49,759.69 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                   44,779.48 
$=! rfn' bfloTj                  40,812.90 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                       298.56 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                     2,113.90 
$=$ cGo Aoj:yf                     1,554.12 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                        908.97 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                        38.65 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       606.33 
!=$ Aoj:yf lkmtf{                       263.99 
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         329.70 
 @=!  Aoj:yfkg vr{                       149.03 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{                          1.34 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        75.87 
 @=&  cfos/                       103.46 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         579.27 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                     70,113.75 
 !=!  aLdfz'Ns -v'b_                    50,331.33 
 !=@  k'gaL{df sldzg cfo                        50.01 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                    12,516.16 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                    4,856.49 
 !=%  cGo k|ToIf cfo 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                    2,028.18 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                       331.58 
 @  Aoo -@=! – @=!) ;Dd_                     39,717.75 
 @=!  bfjL e'QmfgL -v'b_                   27,472.11 
 @=@  clestf{ sldzg                     5,432.12 
 @=#  :jf:Yo kl/If0f z'Ns                        28.19 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       503.31 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                     1,341.30 
@=* cfos/                    2,528.26 
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                     2,113.90 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                       298.56 
# art -!_ - -@_                     30,396.00 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                   30,357.35 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                        38.65 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                       50,570 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                     702,218 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 66-80
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 66-80
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                       27,531 
^= s'n bfjL e'QmfgL ;+Vofdf                        4,159 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                         2,114 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

4 nfOkm OG:of]/]G; skf]{/]zg -g]kfn_ ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                    211,055.22 
!=! r'Qmf k"FhL
!=@ hu]8f tyf sf]if                   27,530.41 
!=# hLjg aLdf sf]if                 183,524.81 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                    211,055.22 
@=! l:y/ ;DklQ -v'b_                      542.54 
@=@ lb3{sflng nufgL tyf shf{                  44,678.15 
@=# v'b rfn' ;DklQ -# – $_                   165,834.53 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                   187,456.22 
#=! gub tyf a}+s df}Hbft                     1,367.69 
#=@ cNksflng nufgL tyf shf{                  177,779.10 
#=# cGo ;DklQ                    8,309.43 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      21,621.69 
$=! rfn' bfloTj                    2,305.59 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                     4,517.76 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                     6,520.01 
$=$ cGo Aoj:yf                    8,278.33 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                     1,044.44 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                      448.95 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                      595.49 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         289.33 
 @=!  Aoj:yfkg vr{                       106.57 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        93.79 
 @=&  cfos/                        88.97 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         755.11 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                     27,972.63 
 !=!  aLdfz'Ns -v'b_                   11,686.68 
 !=@  k'gaL{df sldzg cfo                      244.64 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                     4,096.11 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                      244.04 
 !=%  cGo k|ToIf cfo                         13.64 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                     7,011.77 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                    4,675.75 
 @  Aoo -@=! – @=!) ;Dd_                     22,609.75 
 @=!  bfjL e'QmfgL -v'b_                    8,820.24 
 @=@  clestf{ sldzg                     1,155.66 
 @=#  :jf:Yo kl/If0f z'Ns                          4.69 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       121.12 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                       959.15 
@=* cfos/                       511.12 
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                     6,520.01 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     4,517.76 
# art -!_ - -@_                      5,362.88 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                     4,913.93 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                      448.95 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                    12,112.12 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                  1,094,845 
#= 3f]lift d'gfkmf -af]g;_ sf] b/  50-85 
$= cGtl/d d'gfkmf -af]g;_ sf] b/  50-85 
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                    9,098.79 
^= s'n bfjL e'QmfgL ;+Vofdf 2,228                        
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                    9,522.99 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf 463                          

5= d]̂  nfOkm (ALICO) 

cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd
jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                    257,736.26 
!=! r'Qmf k"FhL                   20,107.61 
!=@ hu]8f tyf sf]if                     7,023.73 
!=# hLjg aLdf sf]if                 230,604.92 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                    257,736.26 
@=! l:y/ ;DklQ -v'b_                     2,385.32 
@=@ lb3{sflng nufgL tyf shf{                 168,934.84 
@=# v'b rfn' ;DklQ -# – $_                     86,416.10 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    90,338.00 
#=! gub tyf a}+s df}Hbft                    3,929.14 
#=@ cNksflng nufgL tyf shf{                   72,723.69 
#=# cGo ;DklQ                   13,685.17 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       3,921.90 
$=! rfn' bfloTj                     1,736.03 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                        18.82 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                       290.25 
$=$ cGo Aoj:yf                    1,876.80 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                      1,986.70 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                         18.12 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                      587.54 
!=$ Aoj:yf lkmtf{                    1,381.04 
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                       1,046.21 
 @=!  Aoj:yfkg vr{                       107.66 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf                      844.50 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        94.05 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                        940.49 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                     20,117.38 
 !=!  aLdfz'Ns -v'b_                   14,560.95 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                    4,482.71 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                       618.30 
 !=%  cGo k|ToIf cfo                       112.06 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                       250.39 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                        92.97 
 @  Aoo -@=! – @=!) ;Dd_                      5,596.82 
 @=!  bfjL e'QmfgL -v'b_                    2,258.62 
 @=@  clestf{ sldzg                     1,900.31 
 @=#  :jf:Yo kl/If0f z'Ns                        14.24 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       145.61 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                      968.97 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                       290.25 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                        18.82 
# art -!_ - -@_                     14,520.56 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                  14,502.45 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                         18.12 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                   14,722.47 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn ;Ddsf]_                     300,854 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 42-87
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 42-87
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                       16,701 
^= s'n bfjL e'QmfgL ;+Vofdf                         7,297 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                           252 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                            90 

6= PlzPg nfOkm O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                   111,094.25 
!=! r'Qmf k"FhL                   21,551.38 
!=@ hu]8f tyf sf]if                    8,796.42 
!=# hLjg aLdf sf]if                  80,746.45 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                   111,094.25 
@=! l:y/ ;DklQ -v'b_                       709.51 
@=@ lb3{sflng nufgL tyf shf{                   83,237.41 
@=# v'b rfn' ;DklQ -# – $_                     27,147.33 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     33,683.99 
#=! gub tyf a}+s df}Hbft                      478.50 
#=@ cNksflng nufgL tyf shf{                  24,022.86 
#=# cGo ;DklQ                     9,182.63 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       6,536.66 
$=! rfn' bfloTj                     2,013.65 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                     2,733.83 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                       216.81 
$=$ cGo Aoj:yf                     1,572.37 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                      1,288.05 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                       559.67 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                      640.10 
!=$ Aoj:yf lkmtf{                        88.28 
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         271.95 
 @=!  Aoj:yfkg vr{                        92.03 
 @=@  z]o/ ;DalGw vr{                         4.70 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf                         62.32 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                       112.90 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                       1,016.10 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                     13,780.60 
 !=!  aLdfz'Ns -v'b_                    8,368.41 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                     1,711.56 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                       225.92 
 !=%  cGo k|ToIf cfo                        65.59 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          5.02 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                    3,404.10 
 @  Aoo -@=! – @=!) ;Dd_                      6,749.70 
 @=!  bfjL e'QmfgL -v'b_                     1,759.27 
 @=@  clestf{ sldzg                      1,121.31 
 @=#  :jf:Yo kl/If0f z'Ns                          3.79 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        83.68 
@=^ cGo k|ToIf vr{                          2.77 
@=& Aoj:yfkg vr{                      828.24 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                       216.81 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     2,733.83 
# art -!_ - -@_                      7,030.90 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                     6,471.23 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                       559.67 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                    8,504.15 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn ;Ddsf]_                     255,227 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 38-73
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 38-73
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                     1,837.66 
^= s'n bfjL e'QmfgL ;+Vofdf                         2,073 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                       216.18 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                           164 

7= ;"of{ nfOkm O=s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                   110,032.99 
!=! r'Qmf k"FhL                  18,770.40 
!=@ hu]8f tyf sf]if                    6,159.74 
!=# hLjg aLdf sf]if                  85,102.85 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                   110,032.99 
@=! l:y/ ;DklQ -v'b_                      458.07 
@=@ lb3{sflng nufgL tyf shf{                  25,054.82 
@=# v'b rfn' ;DklQ -# – $_                    84,520.10 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     91,869.25 
#=! gub tyf a}+s df}Hbft                    1,381.84 
#=@ cNksflng nufgL tyf shf{                   79,418.21 
#=# cGo ;DklQ                   11,069.20 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      7,349.15 
$=! rfn' bfloTj                    4,092.65 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                       156.35 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                        34.39 
$=$ cGo Aoj:yf                     3,065.76 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         653.77 
cfo Aoo lx;fjaf6 ;f/]sf]                       213.22 

!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       366.40 
!=$ Aoj:yf lkmtf{                        74.15 
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         226.04 
 @=!  Aoj:yfkg vr{                       100.66 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{                         13.01 
 @=$  gf]S;fgLsf] nflu Aoj:yf                        69.60 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        42.77 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         427.73 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                    12,420.84 
 !=!  aLdfz'Ns -v'b_                    9,624.72 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                    2,036.84 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                       190.62 
 !=%  cGo k|ToIf cfo                        47.41 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        60.81 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                      460.44 
 @  Aoo -@=! – @=!) ;Dd_                      3,705.85 
 @=!  bfjL e'QmfgL -v'b_                    1,429.54 
 @=@  clestf{ sldzg                     1,077.96 
 @=#  :jf:Yo kl/If0f z'Ns                         5.40 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        96.25 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                       905.96 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        34.39 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                       156.35 
# art -!_ - -@_                      8,714.99 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                    8,501.77 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                       213.22 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                    9,703.88 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn ;Ddsf]_                     169,708 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 47-87
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 47-87
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                     1,472.72 
^= s'n bfjL e'QmfgL ;+Vofdf                          499 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                        34.39 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                            14 

8= u'/f+; nfOkm O=s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                   156,803.46 
!=! r'Qmf k"FhL                   22,589.32 
!=@ hu]8f tyf sf]if                  10,472.08 
!=# hLjg aLdf sf]if                  123,742.06 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                   156,803.46 
@=! l:y/ ;DklQ -v'b_                     2,337.47 
@=@ lb3{sflng nufgL tyf shf{                 126,792.88 
@=# v'b rfn' ;DklQ -# – $_                      27,673.11 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    38,508.42 
#=! gub tyf a}+s df}Hbft                      477.38 
#=@ cNksflng nufgL tyf shf{                  27,282.98 
#=# cGo ;DklQ                  10,748.06 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     10,835.31 
$=! rfn' bfloTj                   4,858.05 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                    3,800.00 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                        99.55 
$=$ cGo Aoj:yf                     2,077.71 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                      1,570.30 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                       269.91 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                      743.50 
!=$ Aoj:yf lkmtf{                      556.89 
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         362.56 
 @=!  Aoj:yfkg vr{                       131.78 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf                        96.59 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                       134.19 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                      1,207.74 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                     18,373.72 
 !=!  aLdfz'Ns -v'b_                   10,657.03 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                    2,727.85 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                       313.43 
 !=%  cGo k|ToIf cfo                      118.40 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        57.01 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                    4,500.00 
 @  Aoo -@=! – @=!) ;Dd_                      9,097.42 
 @=!  bfjL e'QmfgL -v'b_                    2,664.46 
 @=@  clestf{ sldzg                     1,228.21 
 @=#  :jf:Yo kl/If0f z'Ns                        12.59 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       106.57 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                    1,186.04 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        99.55 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                    3,800.00 
# art -!_ - -@_                       9,276.30 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                    9,006.40 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                       269.91 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                  10,774.80 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                     274,197 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 37-75
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 35-75
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                    2,928.03 
^= s'n bfjL e'QmfgL ;+Vofdf                           679 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                       101.74 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                            44 

9= k|fOd nfOkm O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                     35,746.16 
!=! r'Qmf k"FhL                  14,000.00 
!=@ hu]8f tyf sf]if                    4,427.42 
!=# hLjg aLdf sf]if                   17,318.74 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                     35,746.16 
@=! l:y/ ;DklQ -v'b_                      705.20 
@=@ lb3{sflng nufgL tyf shf{                  24,647.98 
@=# v'b rfn' ;DklQ -# – $_                     10,392.98 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     13,501.84 
#=! gub tyf a}+s df}Hbft                       422.37 
#=@ cNksflng nufgL tyf shf{                   10,320.00 
#=# cGo ;DklQ                    2,759.47 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      3,108.86 
$=! rfn' bfloTj                    1,440.29 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                     1,314.91 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf
$=$ cGo Aoj:yf                       353.66 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         565.46 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                       157.26 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                      408.20 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                          43.08 
 @=!  Aoj:yfkg vr{ 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff                        43.08 
 @=^  sd{rf/L af]g; Aoj:Yff 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         522.38 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                       7,365.16 
 !=!  aLdfz'Ns -v'b_                     5,292.36 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                      406.47 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                        35.58 
 !=%  cGo k|ToIf cfo                         17.53 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                     1,613.22 
 @  Aoo -@=! – @=!) ;Dd_                     4,278.44 
 @=!  bfjL e'QmfgL -v'b_                     1,053.53 
 @=@  clestf{ sldzg                     1,027.62 
 @=#  :jf:Yo kl/If0f z'Ns                          5.24 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        52.92 
@=^ cGo k|ToIf vr{                          0.10 
@=& Aoj:yfkg vr{                      824.12 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     1,314.91 
# art -!_ - -@_                      3,086.72 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                        5,385 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                      128,716 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 25-70
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 25-70
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                         1,124 
^= s'n bfjL e'QmfgL ;+Vofdf                            54 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

10= cfOPdO{ nfOkm O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                    74,399.34 
!=! r'Qmf k"FhL                  15,050.00 
!=@ hu]8f tyf sf]if                    8,138.97 
!=# hLjg aLdf sf]if                   51,210.37 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                    74,399.34 
@=! l:y/ ;DklQ -v'b_                      518.49 
@=@ lb3{sflng nufgL tyf shf{                   39,200.34 
@=# v'b rfn' ;DklQ -# – $_                     34,680.51 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     41,905.67 
#=! gub tyf a}+s df}Hbft                       867.86 
#=@ cNksflng nufgL tyf shf{                    32,116.79 
#=# cGo ;DklQ                    8,921.02 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       7,225.16 
$=! rfn' bfloTj                     3,652.10 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                    3,049.69 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                        12.94 
$=$ cGo Aoj:yf                       510.43 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         471.17 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                        79.86 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                        391.31 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         229.25 
 @=!  Aoj:yfkg vr{                       182.19 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf                        20.79 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                         26.27 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         241.92 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                    19,678.98 
 !=!  aLdfz'Ns -v'b_                   14,936.97 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                    1,092.86 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                       210.72 
 !=%  cGo k|ToIf cfo                        41.00 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        34.87 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                     3,362.56 
 @  Aoo -@=! – @=!) ;Dd_                      11,635.39 
 @=!  bfjL e'QmfgL -v'b_                    3,846.56 
 @=@  clestf{ sldzg                    2,909.51 
 @=#  :jf:Yo kl/If0f z'Ns                        27.00 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                       149.37 
@=^ cGo k|ToIf vr{                         0.58 
@=& Aoj:yfkg vr{                     1,639.74 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        12.94 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                    3,049.69 
# art -!_ - -@_                      8,043.59 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                     7,963.73 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                        79.86 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                       15,477 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                      291,753 
#= 3f]lift d'gfkmf -af]g;_ sf] b/  40-70 
$= cGtl/d d'gfkmf -af]g;_ sf] b/  40-70 
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                    3,846.56 
^= s'n bfjL e'QmfgL ;+Vofdf                           102 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          0.01 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                          7.00 

11= o'lgog nfOkm O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                      32,211.97 
!=! r'Qmf k"FhL                  14,000.00 
!=@ hu]8f tyf sf]if                    2,990.87 
!=# hLjg aLdf sf]if                   15,221.10 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                      32,211.97 
@=! l:y/ ;DklQ -v'b_                       368.85 
@=@ lb3{sflng nufgL tyf shf{                   30,105.98 
@=# v'b rfn' ;DklQ -# – $_                       1,737.14 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                       3,364.11 
#=! gub tyf a}+s df}Hbft                        353.13 
#=@ cNksflng nufgL tyf shf{                     1,691.70 
#=# cGo ;DklQ                     1,319.28 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       1,626.97 
$=! rfn' bfloTj                     1,064.13 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                       130.08 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf
$=$ cGo Aoj:yf                       432.76 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         361.69 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                        51.68 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       310.01 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         106.91 
 @=!  Aoj:yfkg vr{                        78.60 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                         28.31 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                        254.78 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                      4,505.56 
 !=!  aLdfz'Ns -v'b_                    4,028.28 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                       270.93 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                         12.92 
 !=%  cGo k|ToIf cfo                        18.78 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          3.00 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                       171.65 
 @  Aoo -@=! – @=!) ;Dd_                      1,785.99 
 @=!  bfjL e'QmfgL -v'b_                       151.96 
 @=@  clestf{ sldzg                      747.86 
 @=#  :jf:Yo kl/If0f z'Ns                          8.37 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        40.28 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                      707.44 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                       130.08 
# art -!_ - -@_                       2,719.57 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                     2,667.87 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                        51.70 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                        4,125 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn;Ddsf]_                       53,776 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 20-70
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 20-70
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                      204.84 
^= s'n bfjL e'QmfgL ;+Vofdf                            83 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

12= ;g g]kfn nfOkm O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                     43,114.20 
!=! r'Qmf k"FhL                  15,400.00 
!=@ hu]8f tyf sf]if                    5,117.04 
!=# hLjg aLdf sf]if                   22,597.16 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                     43,114.20 
@=! l:y/ ;DklQ -v'b_                      744.89 
@=@ lb3{sflng nufgL tyf shf{                   38,661.28 
@=# v'b rfn' ;DklQ -# – $_                      3,708.03 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                       5,293.39 
#=! gub tyf a}+s df}Hbft                      648.62 
#=@ cNksflng nufgL tyf shf{                    2,184.91 
#=# cGo ;DklQ                    2,459.86 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       1,585.36 
$=! rfn' bfloTj                    1,426.44 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                        78.67 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf
$=$ cGo Aoj:yf                        80.25 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         860.66 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                       475.23 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       385.43 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         138.43 
 @=!  Aoj:yfkg vr{                        58.18 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        80.25 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         722.23 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                      6,157.49 
 !=!  aLdfz'Ns -v'b_                     5,253.34 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                       383.70 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                        78.46 
 !=%  cGo k|ToIf cfo 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                      441.99 
 @  Aoo -@=! – @=!) ;Dd_                       1,673.29 
 @=!  bfjL e'QmfgL -v'b_                        42.87 
 @=@  clestf{ sldzg                       963.79 
 @=#  :jf:Yo kl/If0f z'Ns                         11.77 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                         52.53 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                       523.66 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                        78.67 
# art -!_ - -@_                     4,484.20 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                  40,008.97 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                       475.23 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                        5,457 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                        66,113 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 43-75
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 43-75
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                       10,492 
^= s'n bfjL e'QmfgL ;+Vofdf                            45 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

13= Hof]tL nfOkm O=s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                     36,786.15 
!=! r'Qmf k"FhL                  14,000.00 
!=@ hu]8f tyf sf]if                     7,633.65 
!=# hLjg aLdf sf]if                   15,152.50 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                  36,786.15 
@=! l:y/ ;DklQ -v'b_                       756.58 
@=@ lb3{sflng nufgL tyf shf{                   21,025.80 
@=# v'b rfn' ;DklQ -# – $_                     15,003.77 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    23,004.74 
#=! gub tyf a}+s df}Hbft                       615.25 
#=@ cNksflng nufgL tyf shf{                  18,050.50 
#=# cGo ;DklQ                    4,338.99 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                     8,000.97 
$=! rfn' bfloTj                    2,709.39 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                     5,169.97 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf
$=$ cGo Aoj:yf                        121.61 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         781.23 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                      564.89 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       216.34 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         122.20 
 @=!  Aoj:yfkg vr{                         56.30 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        65.90 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         659.03 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                     12,455.34 
 !=!  aLdfz'Ns -v'b_                     5,463.91 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                       694.35 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                          0.28 
 !=%  cGo k|ToIf cfo 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                    6,296.80 
 @  Aoo -@=! – @=!) ;Dd_                     8,445.96 
 @=!  bfjL e'QmfgL -v'b_                     1,915.29 
 @=@  clestf{ sldzg                       792.16 
 @=#  :jf:Yo kl/If0f z'Ns                          9.19 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        54.64 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                      504.71 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     5,169.97 
# art -!_ - -@_                      4,009.38 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                   3,448.89 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                      564.89 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         5,575 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                   2,209,367 
#= 3f]lift d'gfkmf -af]g;_ sf] b/
$= cGtl/d d'gfkmf -af]g;_ sf] b/
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                         1,915 
^= s'n bfjL e'QmfgL ;+Vofdf                         1,694 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

14=l/nfojn g]kfn nfOkm O=s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                    36,878.98 
!=! r'Qmf k"FhL                  21,000.00 
#REF! hu]8f tyf sf]if                     1,922.37 
!=# hLjg aLdf sf]if                    13,956.61 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                    36,878.98 
@=! l:y/ ;DklQ -v'b_                       783.16 
@=@ lb3{sflng nufgL tyf shf{                   19,909.06 
@=# v'b rfn' ;DklQ -# – $_                     16,186.76 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     17,967.25 
#=! gub tyf a}+s df}Hbft                    2,048.33 
#=@ cNksflng nufgL tyf shf{                  14,486.90 
#=# cGo ;DklQ                     1,432.02 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      1,780.49 
$=! rfn' bfloTj                     1,365.41 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                       232.71 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                        54.63 
$=$ cGo Aoj:yf                       127.74 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                        449.91 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                        55.96 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       388.62 
!=$ Aoj:yf lkmtf{                          4.77 
!=% cGo cfDbfgL                          0.56 
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         149.17 
 @=!  Aoj:yfkg vr{                        82.93 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{                         31.35 
 @=$  gf]S;fgLsf] nflu Aoj:yf                          0.19 
 @=%  sd{rf/L cfjf; Aoj:Yff                          1.29 
 @=^  sd{rf/L af]g; Aoj:Yff 
 @=&  cfos/                         33.41 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                        300.74 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                      5,274.69 
 !=!  aLdfz'Ns -v'b_                    4,652.30 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                        311.36 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                        15.58 
 !=%  cGo k|ToIf cfo                        11.80 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                       283.65 
 @  Aoo -@=! – @=!) ;Dd_                       2,671.21 
 @=!  bfjL e'QmfgL -v'b_                      678.42 
 @=@  clestf{ sldzg                      908.79 
 @=#  :jf:Yo kl/If0f z'Ns                          3.77 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        46.52 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                       746.37 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        54.63 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                       232.71 
# art -!_ - -@_                      2,603.48 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                    2,547.52 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                             55.96 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                   4,828.28 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfn ;Ddsf]_
#= 3f]lift d'gfkmf -af]g;_ sf] b/
$= cGtl/d d'gfkmf -af]g;_ sf] b/
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                       666.53 
^= s'n bfjL e'QmfgL ;+Vofdf                             12 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                        47.50 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                              4 

15=l/nfoG; nfOkm O=s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                    43,492.99 
!=! r'Qmf k"FhL                   17,500.00 
!=@ hu]8f tyf sf]if                    5,910.14 
!=# hLjg aLdf sf]if                  20,082.85 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                    43,492.99 
@=! l:y/ ;DklQ -v'b_                       683.53 
@=@ lb3{sflng nufgL tyf shf{                  40,047.67 
@=# v'b rfn' ;DklQ -# – $_                       2,761.79 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                      8,395.90 
#=! gub tyf a}+s df}Hbft                       563.89 
#=@ cNksflng nufgL tyf shf{                    5,062.04 
#=# cGo ;DklQ                     2,769.97 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                       5,634.11 
$=! rfn' bfloTj                     2,411.86 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                    2,302.87 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                      188.95 
$=$ cGo Aoj:yf                       730.43 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                        789.05 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                       183.55 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                      540.42 
!=$ Aoj:yf lkmtf{                        65.08 
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         177.47 
 @=!  Aoj:yfkg vr{                       109.52 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        67.95 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         611.58 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                      9,545.97 
 !=!  aLdfz'Ns -v'b_                     6,086.73 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                       527.28 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                        28.80 
 !=%  cGo k|ToIf cfo                        15.50 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                       142.03 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                     2,745.63 
 @  Aoo -@=! – @=!) ;Dd_                      5,865.48 
 @=!  bfjL e'QmfgL -v'b_                    1,145.80 
 @=@  clestf{ sldzg                    1,168.94 
 @=#  :jf:Yo kl/If0f z'Ns                        20.69 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        60.87 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                      985.64 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                       180.67 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                    2,302.87 
# art -!_ - -@_                      3,680.49 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                    3,496.94 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                       183.55 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                     6,208.16 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                     130,446 
#= 3f]lift d'gfkmf -af]g;_ sf] b/  35-70 
$= cGtl/d d'gfkmf -af]g;_ sf] b/  35-70 
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                         1,273 
^= s'n bfjL e'QmfgL ;+Vofdf                            72 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                           216 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                             61 

16= l;l^hg nfOkm O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                     27,531.54 
!=! r'Qmf k"FhL                  14,000.00 
!=@ hu]8f tyf sf]if                     1,706.14 
!=# hLjg aLdf sf]if                   11,825.40 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                     27,531.54 
@=! l:y/ ;DklQ -v'b_                       727.01 
@=@ lb3{sflng nufgL tyf shf{                   13,588.97 
@=# v'b rfn' ;DklQ -# – $_                      13,215.56 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                    13,840.83 
#=! gub tyf a}+s df}Hbft                      842.37 
#=@ cNksflng nufgL tyf shf{                   11,905.35 
#=# cGo ;DklQ                     1,093.11 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                         625.27 
$=! rfn' bfloTj                      277.40 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                        83.51 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf
$=$ cGo Aoj:yf                       264.36 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                        441.07 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                      150.74 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       290.33 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                          89.30 
 @=!  Aoj:yfkg vr{                        50.21 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        39.09 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         351.77 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                      3,824.94 
 !=!  aLdfz'Ns -v'b_                    3,485.90 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                      232.84 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo 
 !=%  cGo k|ToIf cfo 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                       106.20 
 @  Aoo -@=! – @=!) ;Dd_                       1,357.64 
 @=!  bfjL e'QmfgL -v'b_                      144.53 
 @=@  clestf{ sldzg                       631.89 
 @=#  :jf:Yo kl/If0f z'Ns                        10.42 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        35.41 
@=^ cGo k|ToIf vr{                          0.01 
@=& Aoj:yfkg vr{                      451.87 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                        83.51 
# art -!_ - -@_                      2,467.30 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                     2,316.56 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                      150.74 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                         3,541 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                        31,301 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ 35-65
$= cGtl/d d'gfkmf -af]g;_ sf] b/ 35-65
%= s'n bfjL e'QmfgL /sd -?=xhf/df_                           121 
^= s'n bfjL e'QmfgL ;+Vofdf                            42 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

17 ;flgdf nfOkm O=s+=ln=
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                    28,496.07 
!=! r'Qmf k"FhL                  14,000.00 
!=@ hu]8f tyf sf]if                    2,546.22 
!=# hLjg aLdf sf]if                   11,949.85 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                    28,496.07 
@=! l:y/ ;DklQ -v'b_                       684.16 
@=@ lb3{sflng nufgL tyf shf{                   13,239.38 
@=# v'b rfn' ;DklQ -# – $_                     14,572.53 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                     16,562.29 
#=! gub tyf a}+s df}Hbft                       271.24 
#=@ cNksflng nufgL tyf shf{                  14,086.64 
#=# cGo ;DklQ                    2,204.41 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                      1,989.76 
$=! rfn' bfloTj                     1,115.12 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                      479.81 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                        47.15 
$=$ cGo Aoj:yf                       347.68 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         413.11 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                        52.42 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       356.02 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL                          4.67 
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         103.87 
 @=!  Aoj:yfkg vr{                         69.51 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                         34.36 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                        309.24 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                      3,334.98 
 !=!  aLdfz'Ns -v'b_                     2,597.91 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                       222.51 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo 
 !=%  cGo k|ToIf cfo 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        47.15 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                      467.41 
 @  Aoo -@=! – @=!) ;Dd_                       1,671.38 
 @=!  bfjL e'QmfgL -v'b_                         61.69 
 @=@  clestf{ sldzg                       426.61 
 @=#  :jf:Yo kl/If0f z'Ns                           3.31 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                        25.97 
@=^ cGo k|ToIf vr{
@=& Aoj:yfkg vr{                       625.56 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                        47.15 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                      481.09 
# art -!_ - -@_                       1,663.60 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt                     1,611.18 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg                        52.42 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                        2,598 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                     120,469 
#= 3f]lift d'gfkmf -af]g;_ sf] b/ ?= 30 b]lv ?=70 
$= cGtl/d d'gfkmf -af]g;_ sf] b/ ?= 30 b]lv ?=70 
%= s'n bfjL e'QmfgL /sd -?=xhf/df_ 61.68             
^= s'n bfjL e'QmfgL ;+Vofdf 117               
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                          0.41 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf

18= k|e' nfOkm O=s+=ln= 
cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd

jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

cGo



n]vf k/LIf0f gePsf] -?=nfvdf_
 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                    24,841.65 
!=! r'Qmf k"FhL                  14,000.00 
!=@ hu]8f tyf sf]if                     1,160.13 
!=# hLjg aLdf sf]if                     9,681.52 
!=$ ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_                    24,841.65 
@=! l:y/ ;DklQ -v'b_                      405.05 
@=@ lb3{sflng nufgL tyf shf{                   22,182.26 
@=# v'b rfn' ;DklQ -# – $_                      2,254.34 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                       3,215.53 
#=! gub tyf a}+s df}Hbft                       680.19 
#=@ cNksflng nufgL tyf shf{                    1,908.05 
#=# cGo ;DklQ                       627.29 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                         961.19 
$=! rfn' bfloTj                       572.19 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                       112.04 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                          7.90 
$=$ cGo Aoj:yf                       269.06 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=% ;Dd_                         323.56 
!=! cfo Aoo lx;fjaf6 ;f/]sf]                          9.82 
!=@ hLjg aLdf sf]ifaf6 ;f/]sf]
!=# nufgL shf{ tyf cGoaf6 cfo                       313.74 
!=$ Aoj:yf lkmtf{
!=% cGo cfDbfgL
 @  Aoj:yf tyf vr{x? -@=! b]lv @=* ;Dd_                         80.85 
 @=!  Aoj:yfkg vr{                        53.88 
 @=@  z]o/ ;DalGw vr{ 
 @=#  cGo vr{ 
 @=$  gf]S;fgLsf] nflu Aoj:yf 
 @=%  sd{rf/L cfjf; Aoj:Yff 
 @=^  sd{rf/L af]g; Aoj:Yff                        26.97 
 @=&  cfos/ 
 @=*  hLjg aLdf sf]ifdf ;f/]sf] 

 v'b gfkmf÷gf]S;fg -! – @=_                         242.71 

 qm=;++  ljj/0f  klxnf] q}dfl;s 

 !  cfo -!=! – !=& ;Dd_                      2,687.57 
 !=!  aLdfz'Ns -v'b_                     2,335.92 
 !=@  k'gaL{df sldzg cfo 
 !=#  nufgL, shf{ tyf cGoaf6 cfo                      184.99 
 !=$  aLdfn]vsf] lwtf]df shf{af6 cfo                         36.01 
 !=%  cGo k|ToIf cfo                          3.09 
 !=^  q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                         13.65 
 !=&  q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                        113.91 
 @  Aoo -@=! – @=!) ;Dd_                       1,103.22 
 @=!  bfjL e'QmfgL -v'b_                        19.08 
 @=@  clestf{ sldzg                      450.25 
 @=#  :jf:Yo kl/If0f z'Ns                          4.65 
 @=$  k'gaL{df sldzg vr{ 
 @=%  ;]jf z'Ns -v'b_                         23.71 
@=^ cGo k|ToIf vr{                          0.63 
@=& Aoj:yfkg vr{                      484.96 
@=* cfos/
@=( q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                          7.90 
@=!) q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                       112.04 
# art -!_ - -@_                      1,584.35 
#=! hLjg aLdf sf]ifdf ;f/]sf] jrt 
#=@ gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= xhf/df_ -o; jif{sf]_                     2,391.26 
@= s'n sfod /x]sf] aLDffn]vsf] ;+Vof -xfb ;Ddsf]_                       15,940 
#= 3f]lift d'gfkmf -af]g;_ sf] b/
$= cGtl/d d'gfkmf -af]g;_ sf] b/
%= s'n bfjL e'QmfgL /sd -?=xhf/df_
^= s'n bfjL e'QmfgL ;+Vofdf                        25.28 
&= e'QmfgL x'g afFsL bfjL /sd -?=xhf/df_                              2 
*= e'QmfgL x'g afFsL bfjL ;+Vofdf                         1,374 

gfkmf–gf]S;fg lx;fj

 Plss[t cfo Aoo lx;fj 

19= dxfnIdL nfOkm O=s+=ln= 

cGo

cf=a=2077÷78 sf] k|yd q}dfl;s;Ddsf] ljQLo kl/)ffd
jf;nft

qm=;++
ljj/0f


